

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: December 2, 2024

Progress Estimate Number	Contract ID 240119	-F01 Pay Period Start November 16, 2024 Original Contract Amount \$4,749,461.40
17	Prime Contractor N.B. W	est Contracting Company Pay Period End December 1, 2024 Net Change Order Amount \$35,627.83
17		Current Contract Amount \$4,785,089.23

Approval Date		By User
December 2, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by	krausm2
December 2, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	REDHAC
December 3, 2024	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2024	November 1, 2024	November 1, 2024	99.61%

	Contract Informational Dates										
Date Description	Original Completion Date	No Milestones Exist for Contract									
Acceptance Date											
Awarded Date	February 14, 2024	February 14, 2024									
Letting Date	January 19, 2024	January 19, 2024									
Notice to Proceed Date	March 11, 2024	March 11, 2024									
Open to Traffic Date											
Work Began Date											

Contract Total Pay For Estimate No. 17										
	This Estimate	Previous	To Date							
240119-F01										
Total Posted Items Pay	\$1,612.50	\$4,764,788.52	\$4,766,401.02							
Gross Item Adjustments	\$18,636.39	(\$95,025.92)	(\$76,389.53)							
Incentive	\$0.00	\$0.00	\$0.00							
Disincentive	\$0.00	\$0.00	\$0.00							
Liquidated Damage	\$0.00	\$0.00	\$0.00							
Other Contract Adjustmen	ts \$0.00	\$3,596.23	\$3,596.23							
		\$4,673,358.83	\$4,693,607.72							
Contract Total Payable This Estimate:	\$20,248.89									

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount				
J6S3609	0050	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$110.000	-484.28	(\$53,270.80)				
	0070	4030109	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX)	TONS	\$110.000	484.28	\$53,270.80				
	0240	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$17.750	78	\$1,384.50				
	0390	6061060	MGS GUARDRAIL	LF	\$24.000	9.5	\$228.00				
Project J6S36	Project J6S3609 - Total										
Overall - Tota	Overall - Total										

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item	Adjusti	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3609	0050	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',110.00000 - 110.00000, 'is applied (if non-zero).	369.86	\$110.00	\$40,684.60
	0050	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment	Original payment deduction for AC Price Adjustment has been recalculated due to varying pavement widths resulting in different total quantities for Line Number 0050. Original AC Adjustment Quantity: 1,546.46 Tons Corrected AC Adjustment Quantity: 1062.18			\$3,011.73

Revision 3/23/2023 Page 1 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: December 2, 2024

Progress Estimate Number
17

Contract ID 240119-F01 Pay Period Start November 16, 2024 Original Contract Amount \$4,749,461.40
Prime Contractor N.B. West Contracting Company Pay Period End December 1, 2024 Net Change Order Amount \$35,627.83
Current Contract Amount \$4,785,089.23

J6S3609 0051 0071 0071 0071	MIXTURE PG64-22, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment	Tons 08/16/2024 - 9/1/2024 Mix: BP1 23-25 Line No. 0050 Installed Quantity: 1,062.18 Tons			(\$2,068.60)
007(MIXTURE PG64-22, (BP-1)		Cement Price	Mix: BP1 23-25 Line No. 0050 Installed Quantity: 1,062.18 Tons			(\$2,068.60)
007				Virgin AC %: 4.10% Current Index: 551.25 Base Index: 598.75 Difference: -47.50 Adjustment: -\$2,068.60			
	0070 ASPHALTIC CONCRETE Overrun MIXTURE PG 70-22 (SP125CLP MIX)					\$110.00	(\$22,002.20)
0070	0 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	Original payment deduction for AC Price Adjustment has been recalculated due to varying pavement widths resulting in different total quantities for Line Number 0070. Original AC Adjustment Quantity: 5448.84 Tons Corrected AC Adjustment Quantity: 5933.12 Tons			\$11,129.26
	0 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	08/16/2024 - 9/1/2024 Mix: SP125 24-40 Line No. 0070 Installed Quantity: 5,933.12 Tons Virgin AC %: 4.30% Current Index: 551.25 Base Index: 598.75 Difference: -47.50 Adjustment: -\$12,118.40			(\$12,118.40)
016	0 MISC.	Material			-6	\$903.00	(\$5,418.00)
016	0 MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	6	\$903.00	\$5,418.00
072	0 CURB BLOCKOUT	Material			-205	\$170.00	(\$34,850.00)
072	0 CURB BLOCKOUT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.	205	\$170.00	\$34,850.00
5002	2 EMULSIFIED ASPHALT, SEAL COAT	MaterialCredit			728	\$3.00	\$2,184.00
5003	2 EMULSIFIED ASPHALT, SEAL COAT	Material			-728	\$3.00	(\$2,184.00)
Total	The second secon						\$18,636.39

Revision 3/23/2023 Page 2 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information					
Project Number Project Number Project Description Number N											
J6S3609	FAS S503(33)	Resurface, ADA improvements, and bridge rehabilitation	NOR I-44, SOR I-44	FRANKLIN	from Crawford Co. line to Route 47 and from Exit 225 (Rte. WW) to Exit 226 (Rte. AF)						
Γotals by J	Job Numbe	rs									
J6S3609					This Estimate	Previous	To Date				
		d Item Pay Item Adjustmen	nts		\$1,612.50 \$4,764,788.52 \$4,766,401.02 \$18,636.39 (\$95,025.92) (\$76,389.53)						
			Gross It	em Pay	\$20,248.89	\$4,669,762.60	\$4,690,011.49				
Incentive					\$0.00	\$0.00	\$0.00				
	Disino	entive			\$0.00	\$0.00	\$0.00				
		lated Damages			\$0.00	\$0.00	\$0.00				
	Other	Contract Adjust	ments		\$0.00	\$3,596.23	\$3,596.23				

Revision 3/23/2023 Page 3 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 4091048, Project Item Line Number 5002, Material Set 409104896, Material 1015EA.CHFRS-2P - Emulsion CHFRS-2P, Acceptance Action Generic AspEmulsion is insufficient.	Awaiting contractor to provide Bill of Lading.	krausm2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 6099903, Project Item Line Number 0160, Material Set 6099903, Material 1055CMMLT1D - Clear Pavement Cure (non-dissipating) @, Acceptance Action Generic 1055CMMLT1D is insufficient.	Awaiting SL MoDOT Materials to tag Line Number in Sample Record.	krausm2	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3609, Item 7034600, Project Item Line Number 0720, Material Set 703460096, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	Awaiting contractor to provide PAL.	krausm2	Overridden
Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0180, Contract Line Item Number 0180, Item 6133020, Minor Item.	Change Order forthcoming.	krausm2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0400, Contract Line Item Number 0400, Item 6061061, Minor Item.	Change Order forthcoming.	krausm2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0490, Contract Line Item Number 0490, Item 9029902, Minor Item.	Change Order forthcoming.	krausm2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0070, Contract Line Item Number 0070, Item 4030109, Minor Item.	Change Order forthcoming.	krausm2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0060, Contract Line Item Number 0060, Item 4020520, Minor Item.	Change Order forthcoming.	krausm2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0100, Contract Line Item Number 0100, Item 5021108, Minor Item.	Change Order forthcoming.	krausm2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6081012, Minor Item.	Change Order forthcoming.	krausm2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-F01, Contract Project J6S3609, Project Item Line Number 0130, Contract Line Item Number 0130, Item 6086004, Minor Item.	Change Order forthcoming.	krausm2	Acknowledged

Revision 3/23/2023 Page 4 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
40119-F01	J6S3609	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS		\$165,000.00	\$165,000.00
		0001	0020	2159910	MISC.SHAPING SLOPES CLASS III - MODIFIED MATERIAL REQUIREMENTS	168.00	0.00	168.00	100F	166.20	\$1,200.00	\$199,440.00
		0001	0030	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	542.00	0.00	542.00	SQYD	538.70	\$23.50	\$12,659.4
		0001	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	93.00	0.00	93.00	TONS	65.40	\$200.00	\$13,080.0
		0001	0050	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	1,176.60	0.00	1,176.60	TONS	1,062.18	\$110.00	\$116,839.8
		0001	0060	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	16,958.80	0.00	16,958.80	TONS	16,968.50	\$92.00	\$1,561,102.0
		0001	0070	4030109	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX)	5,733.10	0.00	5,733.10	TONS	5,933.12	\$110.00	\$652,643.2
		0001	0080	4071005	TACK COAT	23,196.00	0.00	23,196.00	GAL	20,706.00	\$2.50	\$51,765.0
		0001	0090	4132000	SCRUB SEAL	2,673.00	-2,673.00	0.00	SQYD	0.00	\$8.00	\$0.0
		0001	0100	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	491.60	0.00	491.60	SQYD	512.00	\$124.50	\$63,744.0
		0001	0110	6081012	TRUNCATED DOMES	30.00	0.00	30.00	SQFT	32.00	\$33.50	\$1,072.0
		0001	0120	6083006	6 IN. CONCRETE MEDIAN STRIP	164.30	0.00	164.30	SQYD	15.00	\$10.00	\$150.0
		0001	0130	6086004	CONCRETE SIDEWALK, 4 IN.	364.50	0.00	364.50	SQYD	389.93	\$86.00	\$33,533.9
		0001	0140	6086007	CONCRETE SIDEWALK, 7 IN.	11.00	0.00	11.00	SQYD	11.00	\$99.00	\$1,089.0
		0001	0150	6089902	MISC.ADA CURB RAMP	7.00	0.00	7.00	EA	7.00	\$3,050.00	\$21,350.0
		0001	0160	6099903	MISC.CONCRETE TROUGH WITH STEEL PLATE	6.00	0.00	6.00	LF	6.00	\$903.00	\$5,418.0
		0001	0170	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	3.00	0.00	3.00	EA	0.00	\$0.01	\$0.0
		0001	0180	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	2,256.50	0.00	2,256.50	TONS	2,376.35	\$112.00	\$266,151.2
		0001	0190	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	13,957.30	0.00	13,957.30	SQYD	11,960.80	\$6.50	\$77,745.2
		0001	0200	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$30,000.00	\$28,500.0
		0001	0210	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN,	5.00	0.00	5.00	EA	5.00	\$4,500.00	\$22,500.0
		0001	0220	6181000	CONTRACTOR FURNISHED & RETAINED MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$250,000.00	\$250,000.0
		0001	0230	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN.	232.00	0.00	232.00	LF	232.00	\$3.75	\$870.0
		0001	0240	6200015	WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	1,039.00	0.00	1,039.00	LF	1,038.00	\$17.75	\$18,424.5
		0001	0250	6200018	WHITE PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN.	240.00	0.00	240.00	LF	240.00	\$17.75	\$4,260.0
		0001	0260	6200021	YELLOW PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	27.00	0.00	27.00	EA	27.00	\$250.00	\$6,750.0
		0001	0270	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING,	8.00	0.00	8.00	EA	6.00	\$200.00	\$1,200.0
		0001	0280	6200027	STRAIGHT ARROW PREFORMED THERMOPLASTIC PAVEMENT MARKING,	9.00	0.00	9.00	EA	9.00	\$350.00	\$3,150.0
		0001	0290	6200030	COMBINATION STR/LT/RT PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.0
		0001	0300	6200042	(ONLY) PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN	75.00	0.00	75.00	EA	0.00	\$29.00	\$0.0
					WHITE, YIELD LINE TRIANGLES							
		0001	0310	6205901A 6205902A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS 6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING	153,062.00 181,751.00	0.00	153,062.00 181,751.00	LF LF	147,658.00 175,571.00	\$0.22 \$0.23	\$32,484.7 \$40,381.3
		0001			PAINT, TYPE L BEADS							
		0001	0330	6207001	PAVEMENT MARKING REMOVAL	19,265.00	0.00	19,265.00	LF	2,102.00	\$0.50	\$1,051.0
		0001	0340	6207002 6221001	PAVEMENT MARKING REMOVAL (SYMBOLS) COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	59.00	0.00	59.00	EA SQYD	59.00 39,976.70	\$27.00 \$2.50	\$1,593.0 \$99.941.7
		0001	0360	6221003	SURFACING (3 IN. THICK OR LESS) COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	15,561.00	0.00	15,561.00	SQYD	15,561.00	\$4.00	\$62,244.0
					SURFACING (GREATER THAN 3 IN. THICK)							
		0001	0370	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	17,221.00	0.00	17,221.00	SQYD	16,994.34	\$5.00	\$84,971.7
		0001	0380	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,200.00	\$2,200.0
		0010	0390	6061060	MGS GUARDRAIL	12,090.00	-300.00	11,790.00	LF	11,675.00	\$24.00	\$280,200.0
		0010	0400	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	500.00	900.00	1,400.00	LF	1,687.50	\$28.00	\$47,250.0
		0010	0410	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$2,800.00	\$11,200.0
		0010	0420	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	50.00	4.00	54.00	EA	54.00	\$2,500.00	\$135,000.0
		0030	0430	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	15.00	0.00	15.00	LF	15.00	\$30.00	\$450.0

Revision 3/23/2023 Page 5 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240119-F01	J6S3609	0030	0440	9026200	CONDUIT, 2 IN., MEDIAN WITH TRACER WIRE	16.00	0.00	16.00	LF	16.00	\$30.00	\$480.00
		0030	0450	9028308	CABLE, 16 AWG 2 CONDUCTOR	240.00	0.00	240.00	LF	240.00	\$1.20	\$288.00
		0030	0460	9029901	MISC.TRAFFIC SIGNAL MAINTENANCE & PROGRAMMING	1.00	0.00	1.00	LS	0.00	\$2,800.00	\$0.00
		0030	0470	9029902	MISC.AUDIBLE PEDESTRIAN PUSHBUTTON AND SIGNING VERBAL WALK MESSAGE	4.00	0.00	4.00	EA	4.00	\$1,900.00	\$7,600.00
		0030	0480	9029902	MISC.COUNTDOWN PEDESTRIAN SIGNAL HEAD, TYPE 1S	4.00	0.00	4.00	EA	4.00	\$670.00	\$2,680.00
		0030	0490	9029902	MISC.PEDESTRIAN PUSH BUTTON STANCHION	2.00	0.00	2.00	EA	3.00	\$1,400.00	\$4,200.00
		0030 050 0030 05		9029902	MISC.PULLBOX ADJUSTMENT	2.00	0.00	2.00	EA	2.00	\$420.00	\$840.00
				9029902	MISC.PUSHBUTTON EXTENSION	2.00	0.00	2.00	EA	0.00	\$215.00	\$0.00
		0030	0520	9029902	MISC.SL DISTRICT TRAFFIC SIGNAL DETECTION SYSTEM	1.00	0.00	1.00	EA	1.00	\$44,218.00	\$44,218.00
		0040	0530	9031010	CONCRETE FOOTINGS, EMBEDDED	6.50	0.00	6.50	CUYD	6.50	\$1,500.00	\$9,750.00
		0040	0540	9031210	STRUCTURAL STEEL POSTS	3,690.00	0.00	3,690.00	LB	3,690.00	\$8.00	\$29,520.00
		0040	0550	9031220	PIPE POSTS	2,230.00	0.00	2,230.00	LB	2,230.00	\$8.00	\$17,840.00
		0040	0560	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	23.00	0.00	23.00	EA	23.00	\$375.00	\$8,625.00
		0040	0570	9031242	36 IN. SURFACE-MOUNT DELINEATOR POST	18.00	0.00	18.00	EA	18.00	\$150.00	\$2,700.00
		0040	0580	9031270A	2 IN. PSST POST - 12 GA.	1,473.00	0.00	1,473.00	LF	1,473.00	\$23.00	\$33,879.00
		0040	0590	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	108.00	0.00	108.00	EA	108.00	\$125.00	\$13,500.00
	0040	0040	0600	9031272A	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	23.00	0.00	23.00	EA	23.00	\$120.00	\$2,760.00
		0040	0610	9031274	CONCRETE POST ANCHOR FOR 2 IN. PSST 7 GA.	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0040	0620	9031280	2.5 IN. PSST POST - 12 GA.	972.00	0.00	972.00	LF	972.00	\$25.00	\$24,300.00
		0040	0630	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	52.00	0.00	52.00	EA	52.00	\$200.00	\$10,400.00
		0040	0640	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	9.00	0.00	9.00	EA	9.00	\$250.00	\$2,250.00
		0040	0650	9035004A	SH-FLAT SHEET	1,261.00	0.00	1,261.00	SQFT	1,261.00	\$25.00	\$31,525.00
		0040	0660	9035011A	ST-STRUCTURAL	229.00	0.00	229.00	SQFT	229.00	\$45.00	\$10,305.00
		0040	0670	9035069A	SHF-FLAT SHEET FLUORESCENT	727.00	0.00	727.00	SQFT	727.00	\$30.00	\$21,810.00
		0040	0680	9039902	MISC.18 IN. SURFACE-MOUNT DELINEATOR POST	3.00	0.00	3.00	EA	3.00	\$150.00	\$450.00
		0040	0690	9039902	MISC.REMOVE & RELOCATE GROUND MOUNT SIGNS	28.00	0.00	28.00	EA	28.00	\$400.00	\$11,200.00
		0050	0700	9109903	MISC.MODOT ITS ASSETS RELOCATION	282.00	0.00	282.00	LF	0.00	\$12.00	\$0.00
		0070	0710	7133000	BRIDGE GUARDRAIL (W-BEAM)	84.00	0.00	84.00	LF	84.00	\$400.00	\$33,600.00
		0071	0720	7034600	CURB BLOCKOUT	205.00	0.00	205.00	LF	205.00	\$170.00	\$34,850.00
		0001	5001	4094002	SEAL COAT AGGREGATE, GRADE A2	0.00	2,673.00	2,673.00	SQYD	2,600.00	\$7.16	\$18,616.00
		0001	5002	4091048	EMULSIFIED ASPHALT, SEAL COAT	0.00	749.00	749.00	GAL	728.00	\$3.00	\$2,184.00
		0071	5003	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	0.00	1.00	1.00	EA	1.00	\$7,626.15	\$7,626.15
	Project J6S3609 - Total Value Posted to Date as of Report Generated Date										\$4,766,401.02	
240119-F01 Ove	erall - Total	Value Post	ed to Dat	e as of Repo	ort Generated Date							\$4,766,401.02

Page 6 of 21 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0050	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	11/26/24	12/2/24	-484.28	TONS	NOR/SOR Mill and Fill	N/A		N/A		Quantity adjustment. Quantities had to be recalculated the correct mainline width. Totals: 8721:95.57 8/22:295.69 8/27:13.71 8/26:6.68 8/29:6.650.54
0070	4030109	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP1	11/26/24	12/2/24	484.28	TONS	NOR/SOR mill and fill	N/A		N/A		Quantity adjustment. Quantities had to be recalculated the correct mainline width. Totals: 872: 1381.93 872: 1186.96 876: 1213.24 877: 1166.57 878: 106.57
0240	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	11/26/24	12/2/24	78.00	LF	Stop bars at Miller Road, WB I44 Exit at Hwy 30, and Anaconda Road.	N/A		N/A		
0390	6061060	MGS GUARDRAIL	11/26/24	12/2/24	9.50	LF	NOR/SOR	N/A		N/A		Quantity correction. Previous quantity did not correlate t the 12.5 LF increments of the guardrail material.

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 7 of 21



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J6S3609	0030	TYPE 5 AGGREGATE	Material		6	Jun 17, 2024	SYSTEM	(\$8,452.95)		
		FOR BASE			7	Jul 1, 2024	SYSTEM	(\$12,659.45)		
					8	Jul 16, 2024	SYSTEM	(\$12,659.45)		
				- Total				(\$33,771.85)		
			Material - Tota	ı				(\$33,771.85)		
			MaterialCredit		7	Jul 1, 2024	SYSTEM	\$8,452.95		
					8	Jul 16, 2024	SYSTEM	\$12,659.45		
					9	Aug 2, 2024	SYSTEM	\$12,659.45		
				- Total				\$33,771.85		
			MaterialCredit	- Total				\$33,771.85		
	0030 -	Total						\$0.00		
	0050	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Other Item Adjustment	ACAD	11	Sep 3, 2024	krausm2	(\$3,011.73)	08/16/2024 - 9/1/2024 Mix: BP1 23-25 Line No. 0050 Installed Quantity: 1,546.46 Tons Virgin AC %: 4.10% Current Index: 551.25 Base Index: 558.75 Difference: -47.50 Adjustment: -\$3,011.73	
						17	Dec 2, 2024	krausm2	(\$2,068.60)	08/16/2024 - 9/1/2024 Mix: BP1 23-25 Line No. 0050 Installed Quantity: 1,062.18 Tons Virgin AC %: 4.10% Current Index: 551.25 Base Index: 598.75 Difference: -47.50 Adjustment: -\$2,068.60
					17	Dec 2, 2024	krausm2	\$3,011.73	Original payment deduction for AC Price Adjustment has been recalculated due to varying pavement widths resulting in different total quantities for Line Number 0050. Original AC Adjustment Quantity: 1,546.46 Tons Corrected AC Adjustment Quantity: 1062.18 Tons	
				ACAD - Tota				(\$2,068.60)		
			Other Item Ad			-		(\$2,068.60)		
			Overrun	Overrun		Sep 3, 2024	SYSTEM	(\$40,684.60)		
					17	Dec 2, 2024	SYSTEM	\$40,684.60	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',110.00000 - 110.00000, 'is applied (if non-zero).	
				Overrun - T	otal			\$0.00		
			Overrun - Tota	ıl				\$0.00		
	0050 -	Total						(\$2,068.60)		
	0060	PAVEMENT MIXTURE	Material		3	May 2, 2024	SYSTEM	\$478,724.76	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user krausm2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
		PG64-22 (SUR			3	May 2, 2024	SYSTEM	(\$478,724.76)		
				- Total				\$0.00		
			Material - Tota	ı				\$0.00		
			Other Item Adjustment	ACAD		May 16, 2024	krausm2	(\$3,312.85)	5/2/2024 - 5/15/2024 Mix: SL22-35 Line No. 0060 Installed Quantity: 3533.71 Tons Virgin AC %: 5.00% Current Index: 580.00 Base Index: 598.75 Difference: -18.75 Adjustment: -\$3,312.85	
					5	Jun 3, 2024	krausm2	(\$7,716.81)	5-16-24 thru 6-01-24 Mix ID: SL22-35	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3609	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Other Item Adjustment	ACAD					Line No. 0060 Installed Quantity = 8,231.26 Tons Virgin AC = 5% Current Index = 580.00 Base Index = 598.75 Difference = -(18.75) Adjustment = -(\$7,716.81)
				ACAD - Tota	al			(\$11,029.66)	
			Other Item Ad	justment - To	tal			(\$11,029.66)	
			Overrun	Overrun	5	Jun 3, 2024	SYSTEM	(\$892.40)	
				Overrun - T	otal			(\$892.40)	
			Overrun - Tota	ıl				(\$892.40)	
	0060 -	Total						(\$11,922.06)	
	0070	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP1	Other Item Adjustment	ACAD	11	Sep 3, 2024	krausm2	(\$11,129.26)	08/16/2024 - 9/1/2024 Mix: SP125 24-40 Line No. 0070 Installed Quantity: 5,448.84 Tons Virgin AC %: 4.30% Current Index: 551.25 Base Index: 598.75 Difference: -47.50 Adjustment: -\$11,129.26
					17	Dec 2, 2024	krausm2	(\$12,118.40)	08/16/2024 - 9/1/2024 Mix: SP125 24-40 Line No. 0070 Installed Quantity: 5,933.12 Tons Virgin AC %: 4.30% Current Index: 551.25 Base Index: 598.75 Difference: -47.50 Adjustment: -\$12,118.40
				ACAD - To	17	Dec 2, 2024	krausm2	\$11,129.26	Original payment deduction for AC Price Adjustment has been recalculated due to varying pavement widths resulting in different total quantities for Line Number 0070. Original AC Adjustment Quantity: 5448.84 Tons Corrected AC Adjustment Quantity: 5933.12 Tons
				ACAD - Tota	al			(\$12,118.40)	
				PPPS	11	Sep 3, 2024	krausm2	(\$15,000.00)	Payment deduction due to pending samples from first night of SP125 production. Final adjustment to be made on next estimate.
					12	Sep 16, 2024	krausm2	\$15,000.00	Payment of \$15,000 is intended to reimburse contractor for -\$15,000 withheld on Estimate 0011. Deduct was included on Estimate 0011 due to pending samples from first night of SP125 production. Samples are no longer pending, see Superpave Contract Adjustment for Line No. 0070.
				PPPS - Tota	ıl			\$0.00	
			Other Item Ad	justment - To	tal			(\$12,118.40)	
			Overrun	Overrun	17	Dec 2, 2024	SYSTEM	(\$22,002.20)	
				Overrun - T	otal			(\$22,002.20)	
			Overrun - Tota	ıl				(\$22,002.20)	
	0070 -	Total						(\$34,120.60)	
	0100	CONCRETE PAVEMENT (8 IN. NON-REINF)	Material		6	Jun 17, 2024	SYSTEM	\$41,458.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					6	Jun 17, 2024	SYSTEM	(\$41,458.50)	
					7	Jul 1, 2024	SYSTEM	(\$63,744.00)	
					8	Jul 16, 2024	SYSTEM	\$63,744.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Jul 16, 2024	SYSTEM	(\$63,744.00)	
				- Total				(\$63,744.00)	
			Material - Tota	ı				(\$63,744.00)	
			Material - Total MaterialCredit		8	Jul 16,	SYSTEM	\$63,744.00	
						2024			



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks											
J6S3609	0100	CONCRETE	MaterialCredit	- Total				\$63,744.00												
		PAVEMENT (8 IN. NON-REINF)	Overrun	Overrun	7	Jul 1, 2024	SYSTEM	(\$2,539.80)												
				Overrun - T	otal			(\$2,539.80)												
			Overrun - Tota	ıl				(\$2,539.80)												
	0100 -							(\$2,539.80)												
	0110	TRUNCATED DOMES	Material		7	Jul 1, 2024	SYSTEM	\$1,005.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user krausm2 overridding Payment Estimate Exception 6 on the current Payment Estimate.											
					7	Jul 1, 2024	SYSTEM	(\$1,005.00)												
				- Total		2024		\$0.00												
			Material - Tota					\$0.00												
			Overrun	Overrun	10	Aug 16, 2024	SYSTEM	(\$67.00)												
				Overrun - To	otal			(\$67.00)												
			Overrun - Tota	ıl				(\$67.00)												
	0110 -	Total						(\$67.00)												
	0130	CONCRETE SIDEWALK, 4 IN.	Material		5	Jun 3, 2024	SYSTEM	\$27,459.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 1 on the current Payment Estimate.											
					5	Jun 3, 2024	SYSTEM	(\$27,459.80)												
					6	Jun 17, 2024	SYSTEM	\$27,459.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user krausm2 overridding Payment Estimate Exception 6 on the current Payment Estimate.											
					6	Jun 17, 2024	SYSTEM	(\$27,459.80)												
				- Total				\$0.00												
			Material - Tota	ı				\$0.00												
			Overrun	Overrun	Overrun		Jul 1, 2024	SYSTEM	(\$2,186.98)											
				Overrun - T	otal			(\$2,186.98)												
			Overrun - Tota	ıl				(\$2,186.98)												
	0130 -					=	01/0==14	(\$2,186.98)												
	0150	MISC. CONCRETE	Material		6	Jun 17, 2024	SYSTEM	\$9,150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user krausm2 overridding Payment Estimate Exception 7 on the current Payment Estimate.											
					6	Jun 17, 2024	SYSTEM	(\$9,150.00)												
															7	7	Jul 1, 2024	SYSTEM	\$18,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user krausm2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
											7	Jul 1, 2024	SYSTEM	(\$18,300.00)						
					8	Jul 16, 2024	SYSTEM	\$18,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.											
					8	Jul 16, 2024	SYSTEM	(\$18,300.00)												
					9	Aug 2, 2024	SYSTEM	\$21,350.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 1 on the current Payment Estimate.											
					9	Aug 2, 2024	SYSTEM	(\$21,350.00)												
					10	Aug 16, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user krausm2 overridding Payment Estimate Exception 1 on the current Payment Estimate.											
					10	Aug 16, 2024	SYSTEM	(\$24,400.00)												
					11	Sep 3, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user krausm2 overridding Payment Estimate Exception 1 on the current Payment Estimate.											



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3609	0150	MISC. CONCRETE	Material		11	Sep 3, 2024	SYSTEM	(\$24,400.00)	
					12	Sep 16, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					12	Sep 16, 2024	SYSTEM	(\$24,400.00)	
					13	Oct 1, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					13	Oct 1, 2024	SYSTEM	(\$24,400.00)	
					14	Oct 16, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					14	Oct 16, 2024	SYSTEM	(\$24,400.00)	,
					15	Nov 4, 2024	SYSTEM	\$24,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$24,400.00)	·
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
			Overrun	Overrun	10	Aug 16, 2024	SYSTEM	(\$3,050.00)	
					16	Nov 18, 2024	SYSTEM	\$3,050.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',3050.00000 - 3050.00000, 'is applied (if non-zero).
				Overrun - To	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0150 -	Total						\$0.00	
	0160	MISC. PAVED DRAINAGE	Material		6	Jun 17, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user krausm2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					6	Jun 17, 2024	SYSTEM	(\$5,418.00)	
					7	Jul 1, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user krausm2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					7	Jul 1, 2024	SYSTEM	(\$5,418.00)	
					8	Jul 16, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user krausm2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Jul 16, 2024	SYSTEM	(\$5,418.00)	
					9	Aug 2, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					9	Aug 2, 2024	SYSTEM	(\$5,418.00)	
					10	Aug 16, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					10	Aug 16, 2024	SYSTEM	(\$5,418.00)	
					11	Sep 3, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					11	Sep 3, 2024	SYSTEM	(\$5,418.00)	
					12	Sep 16, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					12	Sep 16,	SYSTEM	(\$5,418.00)	·



ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
09	0160	MISC. PAVED DRAINAGE	Material			2024			
		DRAINAGE			13	Oct 1, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					13	Oct 1, 2024	SYSTEM	(\$5,418.00)	
					14	Oct 16, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					14	Oct 16, 2024	SYSTEM	(\$5,418.00)	
					15	Nov 4, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$5,418.00)	
					16	Nov 18, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					16	Nov 18, 2024	SYSTEM	(\$5,418.00)	
					17	Dec 2, 2024	SYSTEM	\$5,418.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user krausm2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					17	Dec 2, 2024	SYSTEM	(\$5,418.00)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0160 -	Total						\$0.00	
	0180	FURN & PLACE BIT. MATL FOR CL C PARTIAL	Overrun	Overrun	3	May 2, 2024	SYSTEM	(\$13,423.20)	
		02 017 ((1)/12		Overrun - T	otal			(\$13,423.20)	
			Overrun - Tota	al				(\$13,423.20)	
	0180 -							(\$13,423.20)	
	0230	PREF THERMO PAVMT MARKING, 6 IN	Material		15	Nov 4, 2024	SYSTEM	(\$870.00)	
		WHITE		- Total				(\$870.00)	
			Material - Tota MaterialCredit		16	Nov 18, 2024	SYSTEM	(\$870.00) \$870.00	
				- Total		2024		\$870.00	
			MaterialCredit	t - Total				\$870.00	
	0230 -	Total						\$0.00	
	0240	PREF THERMO PVMT MARK, 24 IN WHIT	Material		7	Jul 1, 2024	SYSTEM	(\$2,999.75)	
					8	Jul 16, 2024	SYSTEM	(\$2,999.75)	
				- Total				(\$5,999.50)	
							(AT 000 TO)		
			Material - Tota	al				(\$5,999.50)	
			Material - Tota MaterialCredit	al	8	Jul 16, 2024	SYSTEM	\$2,999.75	
					8		SYSTEM SYSTEM	\$2,999.75 \$2,999.75	
			MaterialCredit	- Total		2024 Aug 2,		\$2,999.75 \$2,999.75 \$5,999.50	
				- Total		2024 Aug 2,		\$2,999.75 \$2,999.75 \$5,999.50 \$5,999.50	
	0240 -		MaterialCredit MaterialCredit	- Total	9	2024 Aug 2, 2024	SYSTEM	\$2,999.75 \$2,999.75 \$5,999.50 \$5,999.50 \$0.00	
	0240 - 0250	Total PREF THERMO PVMT MARK, 24 IN YELLOW	MaterialCredit MaterialCredit	- Total : - Total		2024 Aug 2,		\$2,999.75 \$2,999.75 \$5,999.50 \$5,999.50 \$0.00 (\$4,260.00)	
- 1		PREF THERMO PVMT MARK, 24	MaterialCredit MaterialCredit	- Total - Total - Total	9	2024 Aug 2, 2024 Nov 4,	SYSTEM	\$2,999.75 \$2,999.75 \$5,999.50 \$5,999.50 \$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks	
J6S3609	0250	PREF THERMO	MaterialCredit	Type	16	Nov 18,	SYSTEM	\$4,260.00		
		PVMT MARK, 24 IN YELLOW				2024				
				- Total				\$4,260.00		
			MaterialCredit	- Total				\$4,260.00		
	0250 -		Matarial		45	Mari 4	OVOTEM	\$0.00		
	0260	PREF THERMO PVMT MARK,	Material		15	Nov 4, 2024	SYSTEM	(\$6,750.00)		
		LT/RT ARROW		- Total				(\$6,750.00)		
			Material - Tota	I				(\$6,750.00)		
			MaterialCredit		16	Nov 18, 2024	SYSTEM	\$6,750.00		
				- Total				\$6,750.00		
			MaterialCredit	- Total				\$6,750.00		
	0260 -	Total						\$0.00		
	0270	PREF THERMO PVMT MRKG,	Material		15	Nov 4, 2024	SYSTEM	(\$1,200.00)		
		STRIAGHT ARROW		- Total				(\$1,200.00)		
			Material - Tota					(\$1,200.00)		
			MaterialCredit		16	Nov 18, 2024	SYSTEM	\$1,200.00		
				- Total				\$1,200.00		
			MaterialCredit	- Total				\$1,200.00		
	0270 -	Total						\$0.00		
	0280	PREF THERMO PVMT MARKING, COMBO	Material		15	Nov 4, 2024	SYSTEM	(\$3,150.00)		
				- Total				(\$3,150.00)		
			Material - Tota					(\$3,150.00)		
					MaterialCredit		16	Nov 18, 2024	SYSTEM	\$3,150.00
				- Total		2024		\$3,150.00		
			MaterialCredit					\$3,150.00		
	0280 -	Total						\$0.00		
	0290	PREF THERMO PVMT MARK,	Material		15	Nov 4, 2024	SYSTEM	(\$500.00)		
		WORD (ONLY)		- Total				(\$500.00)		
			Material - Tota					(\$500.00)		
			MaterialCredit		16	Nov 18, 2024	SYSTEM	\$500.00		
				- Total				\$500.00		
			MaterialCredit	- Total				\$500.00		
	0290 -	Total						\$0.00		
	0310	4 IN. YELLOW HIGH BUILD	Material		7	Jul 1, 2024	SYSTEM	(\$25,383.60)		
		WATERBORNE PAINT			8	Jul 16, 2024	SYSTEM	(\$25,383.60)		
				- Total				(\$50,767.20)		
			Material - Tota					(\$50,767.20)		
			MaterialCredit		8	Jul 16, 2024	SYSTEM	\$25,383.60		
					9	Aug 2, 2024	SYSTEM	\$25,383.60		
				- Total				\$50,767.20		
			MaterialCredit					\$50,767.20		
			Other Item	REFL	9	Aug 2,	krausm2	\$1,260.55	0 LF at Unit Price of \$0.22 X 80% = \$0.00	
			Adjustment			2024			692.28 LF at Unit Price of \$0.22 X 100% = \$0.00	
									114,687.72 LF at Unit Price of \$0.22 X 105% Bonus = \$1,260.55	



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks	
			.,,,,,	Туре			_,			
J6S3609	0310	4 IN. YELLOW HIGH BUILD	Other Item Adjustment						Total Adjustment = \$1,260.55	
		WATERBORNE PAINT	rajuotinont	REFL - Tota	1			\$1,260.55	Total / Glassificial Control of the	
		PAINT	Other Item Ad					\$1,260.55		
	0310 -	Total		,				\$1,260.55		
	0320	6 IN. WHITE	Other Item	REFL	9	Aug 2,	krausm2	\$463.48	18,415.66 LF at Unit Price of \$0.23 X 80% = (\$845.77)	
		HIGH BUILD WATERBORNE	Adjustment			2024			13,884.82 LF at Unit Price of \$0.23 X 100% = \$0.00	
		PAINT							113,855.52 LF at Unit Price of \$0.23 X 105% Bonus = \$1,309.25	
				REFL - Tota				\$463.48	Total Adjustment = \$463.48	
			Other Item Ad					\$463.48		
	0320 -	Total	Other item Au	justilietit - 10	itai			\$463.48		
	0390	MGS	Construction		9	Aug 2,	SYSTEM	(\$8,448.03)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		GUARDRAIL	Stockpile			2024		(++,+++++)		
					10	Aug 16, 2024	SYSTEM	(\$7,705.50)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					11	Sep 3, 2024	SYSTEM	(\$26,969.25)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					12	Sep 16, 2024	SYSTEM	(\$16,461.75)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					13	Oct 1, 2024	SYSTEM	(\$11,383.12)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					14	Oct 16, 2024	SYSTEM	(\$64,569.39)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					15	Nov 4, 2024	SYSTEM	(\$32,145.02)	Payment Estimate Item Adjustment generated Stockpile Transaction	
						16	Nov 18, 2024	SYSTEM	(\$1,698.84)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$169,380.90)		
			Construction	Stockpile - To	otal			(\$169,380.90)		
			Construction Stockpile		4	May 16, 2024	SYSTEM	\$169,380.90	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STMI	- Total				\$169,380.90		
			Construction	Stockpile STI	VII - Total			\$169,380.90		
	0390 -	Total						\$0.00		
	0400	MGS GUARDRAIL, 8 FT. POSTS. 6	Construction Stockpile		9	Aug 2, 2024	SYSTEM	(\$2,718.36)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		FT 3 IN			10	Aug 16, 2024	SYSTEM	(\$2,525.39)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					11	Sep 3, 2024	SYSTEM	(\$3,146.25)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$8,390.00)		
			Construction	Stockpile - To			a.v.=	(\$8,390.00)		
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$8,390.00	Payment Estimate Item Adjustment generated Stockpile Transaction	
			J. IVII	- Total				\$8,390.00		
			Construction					\$8,390.00		
			Overrun	Overrun	11	Sep 3, 2024	SYSTEM	\$3,500.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
					11	Sep 3, 2024	SYSTEM	\$4,900.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
					11	Sep 3, 2024	SYSTEM	\$1,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
					11	Sep 3,	SYSTEM	(\$10,150.00)	,	
						2024		(, , , , , , , , , , , , , , , , , , ,		
						12	Sep 16,	SYSTEM	(\$10,150.00)	Averaged Price Adjustment from this item on all previous payment estimates



ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
09	0400	MGS	Overrun	Overrun		2024			of '0.00000' is applied (if non-zero).
		GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN			12	Sep 16, 2024	SYSTEM	(\$7,000.00)	
					14	Oct 16, 2024	SYSTEM	\$13,125.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',28.00000 - 28.00000, 'is applied (if non-zero).
					15	Nov 4, 2024	SYSTEM	(\$3,850.00)	
					16	Nov 18, 2024	SYSTEM	(\$175.00)	
				Overrun - T	otal			(\$8,050.00)	
			Overrun - Tota	al				(\$8,050.00)	
J	0400 -	Total						(\$8,050.00)	
	0410	MGS BRIDGE APP. TRANS SEC (REG/NO	Construction Stockpile		9	Aug 2, 2024	SYSTEM	(\$8,500.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		CURB)		- Total				(\$8,500.00)	
			Construction	Stockpile - To	otal			(\$8,500.00)	
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$8,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			OTIVII	- Total				\$8,500.00	
			Construction	Stockpile ST	MI - Total			\$8,500.00	
J	0410 -	· Total						\$0.00	
	0420	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		9	Aug 2, 2024	SYSTEM	(\$14,360.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)			10	Aug 16, 2024	SYSTEM	(\$10,770.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					11	Sep 3, 2024	SYSTEM	(\$12,565.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					12	Sep 16, 2024	SYSTEM	(\$21,540.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					13	Oct 1, 2024	SYSTEM	(\$7,180.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					14	Oct 16, 2024	SYSTEM	(\$13,362.78)	Payment Estimate Item Adjustment generated Stockpile Transaction
					15	Nov 4, 2024	SYSTEM	(\$9,972.22)	Payment Estimate Item Adjustment generated Stockpile Transaction
			0 (()	- Total				(\$89,750.00)	
			Construction	Stockpile - 10		10	OVOTEM	(\$89,750.00)	
			Construction Stockpile		4	May 16, 2024	SYSTEM	\$89,750.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$89,750.00	
			Construction	Stockpile ST	MI - Total			\$89,750.00	
	0420 -	· Total						\$0.00	
	0450	CABLE, 16 AWG 2 CONDUCTOR	Material		15	Nov 4, 2024	SYSTEM	\$288.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user krausm2 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$288.00)	
				- Total	15		SYSTEM	(\$288.00)	
			Material - Tota		15		SYSTEM		
	0450 -	· Total	Material - Tota		15		SYSTEM	\$0.00	
	0450 - 0470	Total MISC.	Material - Tota		15		SYSTEM	\$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user krausm2 overridding Payment Estimate Exception 12 on the current Payment Estimate.
						2024 Nov 4,		\$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0014) due to user krausm2 overridding Payment
					15	Nov 4, 2024 Nov 4,	SYSTEM	\$0.00 \$0.00 \$0.00 \$7,600.00	Estimate Item Adjustment (0014) due to user krausm2 overridding Payment
				al - Total	15	Nov 4, 2024 Nov 4,	SYSTEM	\$0.00 \$0.00 \$0.00 \$7,600.00 (\$7,600.00)	Estimate Item Adjustment (0014) due to user krausm2 overridding Payment



roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
S3609	0480	MISC.	Material	71	15	Nov 4, 2024	SYSTEM	\$2,680.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user krausm2 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$2,680.00)	·
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0480 -	Total						\$0.00	
	0490	MISC.	Material		15	Nov 4, 2024	SYSTEM	\$4,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user krausm2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$4,200.00)	
				- Total				\$0.00	
			Material - Tota	l				\$0.00	
			Overrun	Overrun		Nov 4, 2024	SYSTEM	(\$1,400.00)	
				Overrun - To	otal			(\$1,400.00)	
	0.400	Tatal	Overrun - Tota					(\$1,400.00)	
	0490 -							(\$1,400.00)	
	0520	MISC.	Material		15	Nov 4, 2024	SYSTEM	\$44,218.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user krausm2 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$44,218.00)	
				- Total				\$0.00	
	0.000		Material - Tota	1				\$0.00	
	0520 -		0 1 1		0		OVOTEM	\$0.00	
	0540	STRUCTURAL STEEL POSTS	Construction Stockpile		9	Aug 2, 2024 Aug 16,	SYSTEM	(\$9,623.52)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total	2024		OTOTEM	(\$13,616.10)	T ayricht Estimate fem Adjustment generated etocopie Transaction
			Construction S		ntal			(\$13,616.10)	
			Construction Stockpile		4	May 16, 2024	SYSTEM	\$1,236.15	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI		6	Jun 17, 2024	SYSTEM	\$12,379.95	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$13,616.10	
			Construction	Stockpile STM	/II - Total			\$13,616.10	
	0540 -	Total						\$0.00	
	0550	PIPE POSTS	Construction Stockpile		9	Aug 2, 2024	SYSTEM	(\$6,224.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Aug 16, 2024	SYSTEM	(\$2,450.70)	Payment Estimate Item Adjustment generated Stockpile Transaction
			0	- Total				(\$8,674.70)	
			Construction	stockpile - To		M=: 10	OVOTEL	(\$8,674.70)	Demonst Estimate New Adhestment on 1977 1977
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$8,228.70	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total	6	Jun 17, 2024	SYSTEM	\$446.00 \$8,674.70	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction		Al Total				
	0550 -	Total	Construction	Stockpile STI	m - rotal			\$8,674.70	
	0560	BREAKAWAY ASSEMBLY	Material		4	May 16, 2024	SYSTEM	\$0.00 (\$6,750.00)	
		(PERFORATED SQUARE STEEL TUBE)			8	Jul 16, 2024	SYSTEM	\$7,875.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user krausm2 overridding Payment Estimate Exception 10 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks													
J6S3609	0560	BREAKAWAY ASSEMBLY	Material		8	Jul 16, 2024	SYSTEM	(\$7,875.00)														
		(PERFORATED SQUARE STEEL TUBE)			9	Aug 2, 2024	SYSTEM	\$8,625.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.													
					9	Aug 2, 2024	SYSTEM	(\$8,625.00)														
				- Total				(\$6,750.00)														
			Material - Tota	ıl				(\$6,750.00)														
			MaterialCredit		5	Jun 3, 2024	SYSTEM	\$6,750.00														
				- Total				\$6,750.00														
			MaterialCredit	- Total				\$6,750.00														
	0560 -	Total						\$0.00														
	0570	36 IN. SURFACE- MOUNT	Construction Stockpile		15	Nov 4, 2024	SYSTEM	(\$621.00)	Payment Estimate Item Adjustment generated Stockpile Transaction													
		DELINEATOR POST		- Total				(\$621.00)														
		F031	Construction	Stockpile - To				(\$621.00)														
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$621.00	Payment Estimate Item Adjustment generated Stockpile Transaction													
				- Total				\$621.00														
	0570 -		Construction	Stockpile STI	MI - Total			\$621.00														
	0570 -	2 IN. PSST POST - 12 GA.	Construction		4	May 16, 2024	SYSTEM	\$0.00 (\$565.97)	Payment Estimate Item Adjustment generated Stockpile Transaction													
		POST - 12 GA.	Stockpile		5	Jun 3, 2024	SYSTEM	(\$961.54)	Payment Estimate Item Adjustment generated Stockpile Transaction													
																		8	Jul 16, 2024	SYSTEM	(\$57.81)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Aug 2, 2024	SYSTEM	(\$115.62)	Payment Estimate Item Adjustment generated Stockpile Transaction													
					10	Aug 16, 2024	SYSTEM	(\$482.08)	Payment Estimate Item Adjustment generated Stockpile Transaction													
				- Total				(\$2,183.02)														
			Construction	Stockpile - To	otal			(\$2,183.02)														
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$2,183.02	Payment Estimate Item Adjustment generated Stockpile Transaction													
				- Total				\$2,183.02														
	0.500	Total	Construction	Stockpile STI	VII - Total			\$2,183.02														
	0580 -		Construction		4	Mov: 46	SYSTEM	\$0.00	Poyment Estimate Item Adjustment generated Steelands Transaction													
	0590	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12	Stockpile		4	May 16, 2024		(\$242.72)	Payment Estimate Item Adjustment generated Stockpile Transaction													
		GA.			8	Jun 3, 2024 Jul 16,	SYSTEM	(\$485.46)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction													
					10	2024 Aug 16,	SYSTEM	(\$24.27)	Payment Estimate Item Adjustment generated Stockpile Transaction													
					10	2024	OTOTEM	(\$210.40)	Taymon Estimate term rajustrion generated electric managed													
				- Total				(\$970.90)														
			Construction	Stockpile - To			2)/2==:	(\$970.90)														
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$970.90	Payment Estimate Item Adjustment generated Stockpile Transaction													
			Canadauratia	- Total	MI Total			\$970.90														
	0500	Total	Construction	Stockpile STI	vii - Total			\$970.90														
	0590 - 0620	2.5 IN. PSST	Construction		4	May 16	SYSTEM	\$0.00	Payment Estimate Item Adjustment generated Steelands Transaction													
	0020	POST - 12 GA.	Stockpile		5	May 16, 2024	SYSTEM	(\$30.91)	Payment Estimate Item Adjustment generated Stockpile Transaction													
					3	Jun 3, 2024	SISIEIVI	(\$26.88)	Payment Estimate Item Adjustment generated Stockpile Transaction													



ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
3609	0620	2.5 IN. PSST POST - 12 GA.	Construction Stockpile		8	Jul 16, 2024	SYSTEM	(\$198.04)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					9	Aug 2, 2024	SYSTEM	(\$192.95)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$448.78)		
			Construction	Stockpile - To	otal			(\$448.78)		
			Construction Stockpile		4	May 16, 2024	SYSTEM	\$448.78	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STMI	- Total				\$448.78		
			Construction	Stockpile STI	MI - Total			\$448.78		
	0620 -	Total						\$0.00		
	0630	DRIVEN POST ANCHOR FOR	Construction Stockpile		4	May 16, 2024	SYSTEM	(\$34.36)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		2.5 IN. PSST - 7 GA.			5	Jun 3, 2024	SYSTEM	(\$34.36)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					8	Jul 16, 2024	SYSTEM	(\$171.80)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					9	Aug 2, 2024	SYSTEM	(\$120.26)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$360.78)		
			Construction	Stockpile - To	otal			(\$360.78)		
			Construction Stockpile	tockpile TMI		May 16, 2024	SYSTEM	\$360.78	Payment Estimate Item Adjustment generated Stockpile Transaction	
			STIVII	- Total				\$360.78		
			Construction	Stockpile STI	MI - Total			\$360.78		
	0630 -	Total						\$0.00		
	0650	SH-FLAT SHEET	Construction Stockpile		4	May 16, 2024	SYSTEM	(\$42.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
						5	Jun 3, 2024	SYSTEM	(\$597.34)	Payment Estimate Item Adjustment generated Stockpile Transaction
						8	Jul 16, 2024	SYSTEM	(\$156.57)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Aug 2, 2024	SYSTEM	(\$327.08)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					10	Aug 16, 2024	SYSTEM	(\$434.51)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$1,557.50)		
			Construction	Stockpile - To	otal			(\$1,557.50)		
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$1,557.50	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$1,557.50		
			Construction	Stockpile STI	MI - Total			\$1,557.50		
	0650 -	Total						\$0.00		
	0660	ST- STRUCTURAL	Construction Stockpile		9	Aug 2, 2024	SYSTEM	(\$484.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					10	Aug 16, 2024	SYSTEM	(\$375.20)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$859.20)		
			Construction	Stockpile - To				(\$859.20)		
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$859.20	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$859.20		
			Construction	Stockpile STI	MI - Total			\$859.20		
	0660 -							\$0.00		
	0670	SHF-FLAT SHEET FLUORESCENT	Construction Stockpile		4	May 16, 2024	SYSTEM	(\$131.08)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					5	Jun 3, 2024	SYSTEM	(\$83.47)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					9	Aug 2,	SYSTEM	(\$25.86)	Payment Estimate Item Adjustment generated Stockpile Transaction	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3609	0670	SHF-FLAT SHEET FLUORESCENT	Construction Stockpile		10	2024 Aug 16,	SYSTEM	(\$39.59)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	2024	STSTEM	` ′	r ayment Estimate item Adjustment generated Stockpile Transaction
			- Total Construction Stockpile - Total					(\$280.00)	
			Construction	зтоскрпе - то	4	May 16,	SYSTEM	\$280.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI	Tabel		2024		\$000.00	
			Construction	- Total Stockpile STMI - Total				\$280.00 \$280.00	
	0670 -	Total	<u> </u>						
	0680	MISC.	Construction Stockpile - Total	15	Nov 4, 2024	SYSTEM	(\$85.50)	Payment Estimate Item Adjustment generated Stockpile Transaction	
								(\$85.50)	
			Construction Stockpile - Total					(\$85.50)	
			Construction Stockpile STMI		4	May 16, 2024	SYSTEM	\$85.50	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$85.50	
			Construction Stockpile STMI - Total					\$85.50	
	0680 -	Total						\$0.00	
	0720	CURB BLOCKOUT	Material		9	Aug 2, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					9	Aug 2, 2024	SYSTEM	(\$34,850.00)	
					10	Aug 16, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					10	Aug 16, 2024	SYSTEM	(\$34,850.00)	
					11	Sep 3, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					11	Sep 3, 2024	SYSTEM	(\$34,850.00)	
					12	Sep 16, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					12	Sep 16, 2024	SYSTEM	(\$34,850.00)	
					13	Oct 1, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					13	Oct 1, 2024	SYSTEM	(\$34,850.00)	
					14	Oct 16, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user krausm2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					14	Oct 16, 2024	SYSTEM	(\$34,850.00)	
					15	Nov 4, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user krausm2 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					15	Nov 4, 2024	SYSTEM	(\$34,850.00)	
					16	Nov 18, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					16	Nov 18, 2024	SYSTEM	(\$34,850.00)	
					17	Dec 2, 2024	SYSTEM	\$34,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					17	Dec 2, 2024	SYSTEM	(\$34,850.00)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3609	0720	CURB	Material	- Total				\$0.00	
		BLOCKOUT	Material - Tota	ı				\$0.00	
	0720 -	Total						\$0.00	
	5002	EMULSIFIED ASPHALT, SEAL COAT	Material		12	Sep 16, 2024	SYSTEM	(\$2,184.00)	
					13	Oct 1, 2024	SYSTEM	(\$2,184.00)	
					14	Oct 16, 2024	SYSTEM	(\$2,184.00)	
					15	Nov 4, 2024	SYSTEM	(\$2,184.00)	
					16	Nov 18, 2024	SYSTEM	(\$2,184.00)	
					17	Dec 2, 2024	SYSTEM	(\$2,184.00)	
				- Total				(\$13,104.00)	
			Material - Tota					(\$13,104.00)	
			MaterialCredit		13	Oct 1, 2024	SYSTEM	\$2,184.00	
					14	Oct 16, 2024	SYSTEM	\$2,184.00	
					15	Nov 4, 2024	SYSTEM	\$2,184.00	
					16	Nov 18, 2024	SYSTEM	\$2,184.00	
					17	Dec 2, 2024	SYSTEM	\$2,184.00	
				- Total				\$10,920.00	
			MaterialCredit	- Total				\$10,920.00	
			Other Item Adjustment	SEAL	12	Sep 16, 2024	krausm2	(\$151.32)	09/02/2024-9/15/2024 Emulsified Asphalt: CRS2-P5C Line No. 05002 Installed Quantity: 728 gallons Current Index: 527.50 Base Index: 598.75 Difference: -71.25 Adjustment: -\$151.32
				SEAL - Tota	ıl			(\$151.32)	
			Other Item Adjustment - Total					(\$151.32)	
	5002 -	Total	tal					(\$2,335.32)	
	5003	WORK ZONE TRAFFIC SIGNAL SYSTEM	Material		10	Aug 16, 2024	SYSTEM	\$7,626.15	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user krausm2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					10	Aug 16, 2024	SYSTEM	(\$7,626.15)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	5003 -	Total						\$0.00	
J6S3609 -	Total							(\$76,389.53)	
Overall -	Total						(\$76,389.53)		



Contract Adjustments for Contract - 240119-F01

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
12	J6S3609	Other Contract Adjustment	SPAD	(\$14,384.94)	100	Sep 16, 2024	krausm2	Job number: J6S3609 Line Number 0070 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX) Pay factor SP125 (70-22) Lot 1 = 97.6% Superpave Adj per MoDOT template Adjustments made as per calculations for SPAD by Michael Meyerhoff. Reference file stored at below address. http://eprojects/Docs/6S3609/240119_F01_J6S3609_Line_No0070_Superpave_Lot_1_EXT_Pay_Factor.pdf
		Other Contract Adjustment	TSR	\$17,981.17	100	Sep 16, 2024	krausm2	Job number: J6S3609 Line Number 0070 ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125CLP MIX) Pay factor SP125 (70-22) Lot 1 = 92% Superpave Adj per MoDOT template Adjustments made as per calculations for TSR by Michael Meyerhoff. Reference file stored at below address. http://eprojects/Docs/6S3609/240119-F01_J6S3609_Line_No0070_TSR_Superpave_Lot_1_EXT_Pay_Factor.pdf
12 - Total	12 - Total				\$3,596.23			
Overall - Total		\$3,596.23						

Revision 3/23/2023 Page 21 of 21